8 A L FE A HIFR B = 2024488178 (+)

BT I T {EEER
[ —f&DEE ] [ =7 LTAADER ]
IB 4z K % NET HDCP_ TOTAL OUT __ IN OUT NET [itiva K % NET HDCP  TOTAL oUT  IN OUT NET

B B L E 69 17 86 ( 42 44 ) 335 ' B 1EEH 69 13 82 (40 42 ) 335
2f1  FIE E= 69 16 85 (44 41 ) 360 2K KA — 69 8 77 (40 37 ) 360
3fr HEH BT 70 -3 67 ( 33 34 ) 345 3 IF &= 69 17 86 (45 41 ) 365
AL EEF 71 20 91 (46 45 ) 360 AR RF SEM 70 6 76 ( 38 38 ) 350
S EM {Es= /1 8 79 (42 37 ) 380 5L $Rk EF 70 11 81 (41 40 ) 355
66 LK FE 12 11 83 (41 42 ) 355 66z  FIE HE 70 17 87 (45 42 ) 365
Thr  RIL EFE 12 13 85 ( 45 40 ) 385 Th  ERE 71 12 83 (40 43 ) 340
8hI  FE# BB= 72 11 83 ( 45 38 ) 395 8 FE = 71 14 85 (41 44 ) 340
Ohr LB #E 73 3 76 (37 39 ) 355 9t B EH 71 21 92 (45 47 ) 345
106 B = 73 12 85 (48 37 ) 420 106 B M E—HB 71 7 78 (39 39 ) 355
1160 It BAfE 74 13 87 ( 43 44 ) 365 N B F& 72 15 87 (41 46 ) 335
1260 HF & 74 8 82 (41 41 ) 370 1260 B BT 72 13 85 (41 44 ) 345
1367 #E WA 74 18 92 (47 45 ) 380 136 M= = 72 7 79 (39 40 ) 355
1467 BFE £l 74 18 92 (48 44 ) 390 1460 BEE BA 72 18 90 (45 45 ) 360
1567 184 $kth 75 9 84 (42 42 ) 375 1567 SERD & 73 13 86 (44 42 ) 375
2061 & AY 77 12 89 (47 42 ) 410 2001 fngE S 75 21 96 ( 43 53 ) 325
301 EHE —A 79 16 95 (48 47 ) 400 30fL S Bk 78 18 96 (48 48 ) 390
4060 B E 82 18 100 ( 52 48 ) 430 4067 HaiE #5A 79 13 92 (47 45 ) 405
50fy 3t HE 86 15 101 (53 48 ) 455 50f1 N 1EfT 82 11 93 (49 44 ) 435
606 F I+ 588 86 25 111 (56 55 ) 435
BBE  RIFF it 89 26 115, (60 55 ) 470 BBE Il #uE 87 17 104 (54 50 ) 455
BGE M FEYT 67 ( 33 34 ) Par 72 J—ZL—k  RA—FL—h

BEiE(F) 6,606 yard 713 128

BEf(A) 6,237  yard 69.5 123

BEiE(£) 5892  yard 68.1 119

BEiE(%) 5281  yard 64.9 114

(%) 5281  yard 70.1 123

“iE(FHR) 4878  yard 67.8 119




